DATE

_. SUBTRACTIONS
A
Solve by using take from ten strategy using number bond.
Example:
Rick has 15 tattoos. He gave 7 tattoos to his brother. How many tattoos rick is left
with?
15 -7
15-7=38. /\
10 5
Rick is left with 8 tattoos. Subtract 7 from 10 = 3.

3 and 5 make 8

1) Bob has 13 raisins. He gave 8 to his friend. How many raisins are left with bob?

13-8=__.

Bob is left with ___ raisins.

2) Jill has 12 balls. 9 balls are green color balls and the remaining are red color
balls. How many red color balls Jill has?

12 -9=__

Jill has __ red color balls.

3) In aroom there are 13 chairs. Toby has taken away 6 chairs outside the room
How many chairs are left in the room?

13-6=__

There are __ chairs left in the room.
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